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Reg. No.
V Semester B.A./B.Sc. Degree Examination, March - 2021 g’/\%\
‘ | ECONOMICS %\Jé?)
Corporate Economics Ry, B
(CBCS Scheme) (2016-17 Onwards) (Freshers & Repeaters)
. Paper : V :
Time : 3 Hours “ Maximum Marks : 100
Instructions to Candidates: ' '
1)  Answer must be written completely elther in Kannada or in Engllsh
2)  Answer of Part-A should be continuous. '
3)  Answers should be precise.

PART -A
(Conceptual)

Answer any Ten of the following in 2-3 lines each. Each question carries 2 marks. (10><2—20)
YN oﬁa@mddfa 10 =3 71@971 o 2-3 TOONYY wv30A. T[BOIROW T n 2

00BN,
. 1. a) Whatis Corporate Company?

FOTRCF BT FOTR NOWTER?

b) Whatis Corporate Management?
30T R00D JTFIZH POTWVEN?

c) Write any two characteristics of corporate Economics.
FOBR ROWOH eac,is—‘*a 3 OTHE OTEONTDY 20T0N0.

d) What do youmeanby Corporate planning?
BOTR [OWO0H O3REHRT DOTWTE?

e) Givethe meaning of Human Resource Management.
BOFE BOTBRY ATEBHBOD ITF eB?

f)  WhatisInduction?

[P.T.O.
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g)

h)

k)

D)

TVOWOD TPBWRE 0TBeRD?

Mention any two functions of Human Resource Manager.

BPIT BOTIRY BT 03P TETR 2 FOODF TR, BROA.
What is Risk Management?

ROTOOTT AVFBEH 0TBeD?

Mention any two Environment Accidents.

OIRYTOTD TR TOZTF0L00 ODTFBATIY, BROA.
Who is the Founder of WIPRO?

WIPROJSO%OSJ :domq)s‘dﬁdo 033087

Write alny two advantages of Multinational corporations.
WBTILEOD DTN 0B FodeezINTRY, 2B000.

Mention any two Social Security Measures.
0330)TOWTD VT FOwIOL3T ATTZD FRNTR), BROA."

PART -B
(Analytical )

Answer any Four of the following in 15-20 sentences each. Each question carries 5
marks. (4%5=20)
, B9NS cdRFmorte mwy, IIRVR 15-20 TTAYY G030, 20T TIR 5 wosrish.

L4 L}

Briefly explain the nature and scope of corporate Management.

TOTR FOWOR JBJFHBEOD VAT W) Q0N FOFTTN DJOA.

Write a note on Principles of Corporate Managemcnt.

BOTR AOWOR LW IFNTH 1O e35JE3 0TOWD.

Explain briefly Importance' of Corporate Planning.

BOTR Fo0R 08ReRBOH TRENNIONI), FOFHTZN HTOL.

Write a note on functions of Human Resource Manager.

WD h‘owa&raeo wéw,%wsa FOONF NS wzj\ ésa_;;sé WToND.
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6.

10.

11.

12.

13.

Brictly explain ‘Good Labour Management relationship in Industrial Relations.
GROT JowoFIY IR IORS-BTBII” Wi HogHmen wBowO.

Explain briefly the functions of WTO.
WTO S s000enidmy, 03BN Q[0

PART - C

(Analytical)
Answer any Four of'the following not exceeding 4 pages each. Each question carries 15
marks. (4%x15=60)_
TINT CPPYTRT3R 4 TFRYR 4 Toensd WedTod «03dA. FIo3Rowd T 15
©OINA. , '

Discuss the importance of Corporaie Business Houses in Economic Development.
CeBRR0TT SRFPRTRODY 0T FoWOR WHBIHNY TRWODFODT), WBFA.

Explain the types of Corporate planning.
TOTY FOWOD CIRERIOD DBPREIY,. DWOA.

Explain Scope and importance of Human Resource Management.
BIT BOBIRY JBFBHOD &L ) TRVINIONTY, DBOX.

Explain the advantages and disad{/antages of Multi-National Corporations.
WBOTIREOD DARY TR Tord OTIRRRVBATIY, HTOA.

Explain impdrtance of Human Resource planning.
BRTE BOBIRY 8ReHIOD DBIWI), VWO

Explain the objectives and achievements of INFOSYS Compahy.
INFOSYS e030s qugdeaned mone Ropsndsy, d@dA.
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Reg. No.

V Semester B.A./B.Sc. D_égree Examination, March - 2021
ECONOMICS
Rural Development and Co-Operation
' (CBCS Scheme Fresh)
Paper : VI |

Time : 3 Hours | Maximum Marks : 100
Instructions to Candidates: | |

1) Answermust be written completely in Kannada or in English.

2) Answers of Part A should be continuous. ]

3) Answer Should be Preise.

PART-A
on-a
(Conceptual)
Answer any 10 of the following in 2-3 sentences each. Each questions carries 2 marks.
TINISIYNYY 10 JJnen 2-3 DOENTY wvZdA. T3 TJRR 2 wognsd. (10%2=20)

1. a) ~ Give the meaning of rural development.
@memzpsd% oD, WFFA.

b)  Whatis rain water harvesting?
Y A B0 DOTTe?

¢) Expand MNREGA.
MNREGA o3&, Q%A

d) Whatare selfhelp groups?
R, AHOD THOTONH HOTTEH?

€) Mention any two dbjecﬁveé of Public distribution system.
TORFBAT 3T aéaﬁ@ 0D OIPR)TOTTR AT emdo BN, .

[PT.O.
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f)  Whatis Kisan Credit Card?
3R IR FEFE Q0TTeH?

What isAYUSH ? . =
AYUSH 20389 o (

9
~

h)  Give the meaning of Land Reforms.
B DEITBOD OBEI, $93.

i)  Whatis Micro Finance?
I TLRTOR N0TTE?

j)  Whatis meant by rural Sanitisation?
o TR0eED 56639@53 DOTTEY?

k)  What are Co-operative Societies?
ADF0 ROTND D0T3CN?

1) ~ What is white revoluti'on?.
335008 DOTTe?

PART-B
Pn-0
(Analytical) :
Answer any Four the following in about 15 to 20 Sentences each. Each question carries 5
marks.
BINSYNYY oSFToTTe wwy, TIRVR 15-20 TINRYY wv3dR. TS TBRR 5
90BN, . _ ‘ i » (4x5=20)

2.  Briefly explain the importance of rural development.
MBNEFRRFHOD WTIHI), FOFTTN DTOR.

3; ‘ PURA-Writeabriefﬁote.
PURA 933 21}, 3388 2030000,

4. Explain the measures adoptéd for forest conservation.
©3ee, BOTBFHNON IRDERHT INTY, D@oR.
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5.

10.

11.
12.

13.

Examine the need for rural industrialisétion.
MoERerd §desteos wmBF3ohs), BodedA.

Write a note on National Rural Health Mission.
OO0 TRvesd S8R, GROIRT BOB E3Ted 2B0d.

What are the important rural training programmes?
TR0D MR0esd ITeed FOOPHFIRONED 030TR)?

PART-C
N - 2
(Descriptive)
Answer any Four of the following not exceeding 4 pages each. Each question carries 15
marks.

3UNT CIPYTOETH Ty, BFAOR ), THURER WedBod «o3oR. I8 TP 15
E0TNN. : (4x15=60)

What are the causes for low agricultural productivity? What measures are adopted to incrcase
productivity?
g OIVTTB0ID IRFIPRELD ToTLNPERD? VTR, BRI IRDEROBWE B

03503 ?

Explain the different principles and types of co-operative societies.
ABFOO ROPNE DNT IIrieh DB HPRFSY, ISOA.

Describe the various poverty alleviation programmes.
WBST ARMOFOT0  TOODF FEONFR), B0

What are rural industries? Explain the importance of these industries in India.
ARIAVNY %mb%ﬁ% DOTBEHN? HOSTY PN BBITD), DTOA.

Examine the role of Gram Panchayat in rural development.

| TREDEFIRBQONY MR TOWRODFT NG TPITI, TodeIA.

Explain the various institutional and non-institutional sources of agricultural finance.
TN DEOTORS mozg ), mo%éeéd BN, DTOA.
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Reg. No.

V Semester B.A./B.Sc. Degree Examination, March - 2021
ECONOMICS
Mathematics for Economist
(CBCS Semester Scheme)
Paper : VI
Time : 3 Hours Maximum Marks : 100

Instructions to Candidates:
1) Answer must be completely either in Kannada or in English.

2) Answer of Part A should be continuous.
3) Answer Should be Precise.

PART-A
PON—-&
Answer any 10 of the following sub-questions each carries 2 marks. (10x2=20)

1. a C=100+ 0.5y, =450, G = 250 respectively Calculate the equilibrium level of

Income.
C =100 + 0.5y, I =450, G = 250 w9 ADBREOT STIONTI), FORIHLROND.

b)  Solvex®+ 5x - 6 =0 using quadratic equation.
INFRRZ WA x? + 5x - 6 =0 0Ty, DBA.

) if —x?Find
c if y e

d
y = x*enmn Ey 30THROND.

-0

2 3 6
dsa:ée)é A[S 2} DD B=|i4 J eﬁﬁcsaor{ A+B 3030%&8000.

[PT.O.
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c)

)

h)

i)

k)

D

10524

-1)
Ex

Evy
vy = 8x'soon = 30 EOWN0.
Ex

Iy =8&*Find

By using Cramer’s rule final the value ofxand y.

Ix -3y = 11

3x-4y=

RSl aosa:maa QPR x WD) Y ) da’avﬁ@c/?\b FOTDEEBOWD.
Tx - 5y =11

3x-4y=2

The production function Q =

—adaQ

10x° - 4x%y + 3x)* + y* Find the Partial derivatives

0
Q = 10x° - 4x%y + 3x)? + y* 40TITTO Q0TI NS NIOI a—g W

-0

00

5305&&@0&6.

The total Cost function of a firmis ¢ = q3 — 4q2 + 8¢ Find Marginal cost (MC) when
qg = 20.
2 B Wows C=g° —4q” +8g SNT, g =20 NN 2e&5008 352 (me)
TOTIHEOWD.

The demand law of a certain product is P=200-8¢q and g=10. Find total Revenue.
2,000 VNI Beds Wows P=200-8g |y, ¢=10 &sTen 2083 B3TOOH FOTIEROWO.

Define Producers surplus and write the formula.
NTOTIT WRT FRODT, THARVIX NP T3 BRZ, wSoWO.

If P=100-4¢. Find price elasticity of demand 77 when g = 10.
P=100-4q 3 g =10 “awooﬁ n &3S BSe@3odD %@@2553;553& 203 HBO0.

When y = f(x). State both the Necessary and Sufficient Conditions for the maximum
value of y.

= f(x) WoW3F oOR 3 DI 9= r=2
(x) owsg y NOFIR avWess SUCNDCN SEhE ABNANTD, 39A.
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PART-B
Pon-1

Answer any Four of'the following. Each carries 5 marks. (4%x5=20)

E(uwv) Eu Ev

2. Ifu=g(x)andv=h(x) then pr =—+—.

g (x) v = h(x) then prove that I 7 Ex

_ B E(uv) Eu Ev .
u=g(x) DR v=h(x) shoon x _E—x+.§ DOLVTIY, FORA.

3.  Solve by Cramer’s Rule.
3x+2y+4z=19
6x+2y+z=37
x+2y+3z=10
R, DT WEH [, DR,
3x+2y+4z=19
6x+2y+z=37
x+2y+3z=10

4.  For the Cobb - Douglas Production Function Q = AL“K® Find both MP, and MP, Further

Prove that both are downward sloping.
T2 — WOTRA’ URT 9vzons Wwowd Q =ALKP R Zo20Q2z03 MP, &3 MP,
FOBRBOWD D) WPNTTE F¢0DTN BODID 20D QA

5. Thetotal Cost function C = q3 — 2q2 +20q Prove that Ac =Mc at the minimum Point of Ac.
288 ST Wowd C=q° —2¢° +20g SNT, ITVRD B Ac 3dFmoNTHOR Ac=Me

RO DA

6.  The short run cost function of a firm is C = 0,0825q3 - O.963q2 +8.92¢ +100 obtain
TFC, TVC,AC,AFC,AVC and MC.
20T eUEd FoF0d weRRE [PH wowssY C =0.0825¢° —0.963g> +8.92¢ +100
snwen TFC, TVC, AC, AFC, AVC 353 MC 30%830000.

7. The demand law of a Certain Product is P=25-2¢q Calculate the consumer’s surplus when

the equilibrium price for the product is Rs.5.
2,00 VDT e Wows P=25-2g, amyn, Rs.5 sNm9n eshgdeenod «0F 3

BOT &&BOWO.
[P.T.O.
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10.

11.

12.

13.

PART-C
R — &
Answer any Four of the following. Each question carries 15 marks.

I£ D =1800 - 40P and S = 300 + 20P are the demand and supply function respectively.
Find the equilibrium price and the quantity. When a specific tax of Rs.2 per unit is levied

Calculate the new equilibrium price and quantity.
D =1800 - 40P 303 S =300 +20P risb 3z0e50N e B TRT,FOD 202)3NFNGS.

STOOT FZRCOTT BS TH) YOIZNYRY, FOBLBOWD. T 6383, Two.2 dod 3on
DHATNR BRF ARV B DB LOITFIY FOWIROND.

A Student has Rs.400 per month to spend on two commodities g, & ¢,. The Price of g, is
Rs.10 and that of g, is Rs.20. The utility function of the consumer is v = g, g, - Calculate

the equilibrium values of ¢, and g,
22 DWHFOD 9 30NYR ST RATH g, BB g, e DDF SPEeD Be.400 AT

g, S BS 8R.10 Tone ¢, 8 BS 8R.20 V[T WEd 2DOWBD) L =g, g, SN ¢,
BONR g, RDIREOT TPOFRY, FOWd SBOXWD.

(4x15=60)

2005, _ 500A
The demand laws for two related commodities are Ol= P ’QZ - J
1

Find 7, 2,7, and 7 ,, Also prove that the commodities are substitutes.

2007, 500R,
2o e3RyY Bead wowined G1="p Oy = p, N 2,202 B

7,, SOWHRBOND Tore DTBD LOIZNRH WBO FTRNFOTD QA
If D = -50p + 250 and S = 25+25p are the demand and the supply function. Find the
equilibrium price and the quantity. Also prove that the equilibrium is stable according to

both walras and marshall.
D=-50p+250&03 S= 25+25p nisd 3zdeson L3eRB =) mdé% POBNTOND. QWOOT

RBRe0n BS T3y G0, FORERBOND. FHortode RS B O TIF TRT
TBOT TFLIOD ngdmﬁd DOWTR), APE A.

The short run cost function of a firm is C = 0.04¢%-0.9¢+10g+5. Calculate the equilibrium
quantity ¢ and the profit 7 when the competitive price for the product is P = 4.

2,000 QOTE :\)’orféoja ©ORTY [BB 00T C =0.04¢*-0.9¢°+10g+5 &3N3, AT3S
3oorgs S P=4 SN, ARV TP g D) NOF GO 7 NYI, IFFOA.

A monopolist demand law for a certain product is P = 100 - 4g and cost function C =
50+20q. Find the equilibrium output price and profit.

BRI SOTVLMOT 2,000 SRR Be@FoD Wows P=100-4g =03 dzgd o3 C
=50+20g SATR ReDBREOT YOI, 8BS D), GBI, FOREHROWO.




